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1) Inferior goods are those for which demand increases as
A) income increascs.
B) the price of a substitute falls,
C) income decreases.
D) the price of a substitute rises.

2) Ifarise in the price of good B increases the quantity demanded of good A,
A) B is asubstitute for A, but A is a complement to B.

B) Aand B arc substitutcs.

C) Aand B are complements.

D) Aisa substitute for B, but Bis a complement to A.

3) Ifdemand is clastic, a teftward shift of the supply curve will
A) decreasc total revenue.

B) decrease the demand for the good.

C) increase total revenue,

D) have no effect on total revenue.

4) Price floors in agricultural markets

A) create surpluses that must be bought by the government.
B) decrease the quantity that farmers are permitted to produce.
C) create lower prices for consumers.

D) create shortages that must be covered by the government,

5) The market demand curve

A) is downward sloping just as predicted by marginal utility theory.

B) is obtained by adding together the individual quantities demanded al cach price.
C) is the horizontal sum of the individual demand curves.

D) All of the above answers are correct.

6) 1f hours of labor supply decrease when wages increase, then it must be the case that the

A) substitution etfect of the wage increase must be larger in magnitude than the income effect of
the wage increase.

B) income cffect of the wage increase must be larger in magnitude than the substitution effect of
the wage increase.

C) income effect and the substitution effect of the wage increase both cause the quantity of labor
supplied to decrease.

D) None of the above answers is correct.
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7) When marginal cost is greater than average total cost, the
A) average total cost increases as output increases.

B) marginal cost decreases as output increases.

C) marginal cost does not change as output increases.
D) average total cost decrease as output increases.
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A perfectly competitive (irm’s short-run supply curve is

A) horizontal at the market price.

B) its average total cost curve above the minimum of the average variable cost.
C) its average variable curve above the breakeven point.

D) its marginal cost curve above the shutdown point.
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A key difference between a monopoly and a firm that operates in a perfectly competitive markct
is that the monopolist

A) does not face fixed costs in the short run.
B) faces a perfectly elastic demand for its product,
C) always carns gigantic profits,

D) has a marginal revenue curve that lics below its demand curve.

10) The kinked demand curve model of oligopoly is based on the assumption that each firm
believes that

A if it raiscs its price other firms will follow, and if it lowers its price other firms will not follow.
B) ifit raises or lowers its price other firms will not follow.

C) if it raises its price other firms will not follow, and if it lowers its price other firms will follow.
D) il it raises or lowers its price other firms will follow.
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